o
W

o
=

o
a1

ATDDD@@

7

8

ElElEEl

Horizontale Achse:
Kreuzgriff V2A ; M8
Beilagscheibe V2A ; @ 30
Stopmutter V2A ; M8

Distanzscheibe Teflon ; @ 30 ; D + 2mm Toleranz

Schwenkplatte Al ; 40 x 10

Senkkopfschraube V2A ; M8 x = 70/80 (priifen!)

Vertikale Achse:
Senkkopfschraube V2A ; M8 x 30
Grundplatte Al ; 40 x 10
Distanzscheibe Teflon ; & 50 ; (Gleitlager)
Sockel @ 50 ; Al

Stutze:
ITEM Profil 8 40 x 40 ; Al
Senkkopfschraube V2A; M8 x 30

MUNGHNERSTR.44 83022 ROSENHEIM
heinzkirschneregmx.net +49 8031 2577535

NODALPUNKTADAPTER |= -
CUSTOMER > VORABZUG!
NICHT ZUR
AUSFUHRUNG
FREIGEGEBEN!
DESIGN > HEINZ KIRSCHNER | 08.07.2008

PLAN 3 / 6

NODALPUNKTADAPTER_ANSIGHTEN




